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FART I : GENERAL INTELLIGENCE
Directions ; In gueations no. I o ¥, select the | 12,  Find out the set smong the-four sets which is

related word fletiers/number  from  the given like the given set.
ﬁ:’ermtu-es- (11 - 18 — 25] .-
I." 1 - = o0 0] i r. l}
i3y Sgmmtisen S E (A (4-12-18) —(B) (19-26-33)
{4l Mouth {Bl Hearing O (0) (1B=28=33) 4D} (9-14—24)
{ {IN
%) EBpeech S5 Fonips 18. Which one of the given responses would be a
2. Racket:Tennis:: 7 meaningful order of the following 7
{A) Ball: Football 1. Ploughing 2. Weeding AR
(B) Clove: Cricket 3. Sowing 4. Harveating
| (C) Board: l_:hess (A) 1,2.8.4 v AR, B84
4D} Bat: Criclet (0 2 a1 d (o 1,843
d. Hand:Glove:: Head: 7 14, Arrange the following words according to the
4] Hair 1 Hat English Dictionary : .
(€1 Neck (D] Hair-pin 1. "_Jn?f,r'ia:g‘e 2. Voite 2 Y h'; |
4. TCEJBO:OBJECT::TCEJORP: 2 3. Voeation 4. Valume
(4) ROPJECT (B) JCCTROP AT 8,2,4,1 (8)- 2.4, 4.1
i€ PROJECT _ (D) ROJOECT {C) 3,4,2,1 (D) 2,4,8,1
5. PLEX : DJPV: EE'I[;Q‘-‘::‘? a £ :l_ £ 15. Which one set of letters when Suqu&nLia..l‘.}r
(Al BHMT J,E'T‘_EIDU placed at the paps in the given letter series
- e it 9
(€} AGMS (D) WQKE phals camplehe il
B YU a bab ab_abb
SRR L sk o (A3 (B) ana
ke i) __{CH-bbb (D) bba
i) B Wl Directions : In questiong no, 16 to 1 a series ia
| T d5:9zzpd=3 given, with one ferm missing. Choose the correct
| (A} 17 g (BY 14 alternative from the given ones that will complate
the aeries.
_IeT 18 D 10 e e e
. " 16, 4 7.18,08,34, 7 19
Directfons : In guestions ke, & w0 11, fnd the add et e e T
wordsslettere/rumber - patr from  the - given {A) 47 (Bl 52
adternolives, . 49 (D) 46
: : uﬁﬂ:,,“gqu Lelh= N
8, {A) Prince: Princess 17. FLA, GMB, HNC, 10D, g- P r
TB:"r ‘i.-’amp:‘i-"amlpii‘eb’/ (Al NSD BT JPE [
(2} Hero: Herpine (& TOE M OTK
(D King: @ueean =
P #:Qu 18, 135,226,353, 2 , 739 g
] o 1
i) ;**3 Cia i (A) 522 (B) 622 e
s N b (C} 682 m 722 )
10, {A) UROL (B) QNEH 19, If day hefore vesterday was Sunday, what day
oy 1 REGY AL o LLD"':EII%PHI % will fall on day after tomorrow ?
|: ll:] (A1 108 - 36 (B) T6-—46 (A} Wednesday L_..-(-Ef'l‘humdar
= ) BB—55 (D 120°-90 (Cy PFriday (D Tuesday
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(D) e : e
3. ®Y.Emefmc 7

(A) AT (B Znft

(2 T (D} 'EIE_ ﬁ:r}
d. TCEJBD - OBJECT : : TOEJORP : 7

{A) RORJECT tB1 JCCTROP

{C1 PROJECT {D} ROJOECT
3 FLEX : DJPV :: EKQW .. 7

tA) BHMT tB] CIOU

(2] AGME {0y WQEE
6. T o O O

(A} 48 (B) 45

() 50 M &1
e AR DsBd. T

iAp 1T (B 14

cy 13 Ly 10

Fewr ;. T OB S § 11§, T o fAwew A @
o =T | AT | FE W A i

8 (Al TTHEHW : TEEET
(B) et ; TG
i} AT < AT
(D) T T
9, (Al T (B) R
i) T (e
14. 4] TROL (B} QNEH
iC) YVEP (D} USPM
11. (A} 106-36 (B) 76 - 46
() 86— 56 (D} 120- 90

12. fra fow mo9w ot A @ 3w owR w0 oAw
#ifam w1 fim o ogE % W R
(11— 18— 26)
(A) (4-12-18) (B} (18-26-38)

(Cy (18-28-33 (D (9-14- 24}
13, = fawedt 8 & Fm e 9= fmowm

st =1 T e g B 7

1, W g, o

3. = 4, REE WA
(A) 1,2.9 4 {B) 1,8, 24
(C) 28,14 D 1,2,4,3

14, Frafefgs T w S0 T=EW F EER
T.;I-'Tﬂﬁﬁ'lé

1. WVoyage 2, Woice
3. Vocation 4, Volume
A} 3,2, 4,1 (B} 2,8, 4,1
() 3,4,2,1 D) 2,4,3,1
15, H&i = FEA wp el e W owrEn
TE B F T WA e F G w7
a_hab_ab_abh
(4} haa (B aaa
() bbb (D} bha
T qE 16 F 18
ﬁ T 95 ogF # /| Br ﬂ-ﬁ%ﬂﬂ 7 ﬁ'a?
ey cvg;w Crlcrd
8. 4,7,13,922,34, 7
Al 47 {B] 62
{01 48 (I 45
17. FLA, GMB, HNC, 10D, 7
tAl NsD (B} JPE
{C) TOE D) OTK
18, 135,226,353, 7 ,739
A} B22 (B} &22
iC) 532 (D) 722
19, ofE 7 m owE ¥ oPEEw @, A owe A
T I (FE G A ) wEa G e 2
(A} HyaEm (B) FEEAfan
(Ch IFRET (D) HTETER,
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Y€ (Ll
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i . e . :
20. Prakash jumpe higher than Pinakin, but not | 27. If ‘ETHICS can be written as SECTIH': then
as much as Ketan jumps. Rohan jumps lower how can AFECTION be written T
than Pransv but not less than Ketan. Who {A] NAOFETIC (B) NAOFICTE
; i lowest ?
ok j‘:‘,”; ”“’: e \JCr"NAOFIETC (D) NAOFITCE
AT Pinakin etan
(il s (C) Fohan (D) Pranar 28, Some letters are given below in the first line
If."L ) and numbers are given below them in the
SR 21, Lecla and her grandmother differ in their second line. Numbers are the codes for the
A= . M ages by 60 vears. After 10 years, if the sum of alphabets and vice-versa, Choose the correct
g =L their ages is 100 years, what are their present numbeér-cade for the given set of alphabets
L 4_3;5-! ages 7 i AFEHIEKEOMUR
93 85 4058186287
SO I”rﬂ] 20, 80 __ABT 10,70
ir Y 16, 76 (D) 25, 85 "'ri:'LElDT_\l
Wz 22 ¢ {A) GBE102" B_LB’EED‘IE
e '_'|!-' 23, Sertka iz 18 fm Blﬂlﬂ E-"Tl.'d of o row Ur (C} EH‘EE].D IDI' Eﬁaz[‘,l
e girls. How many girls are there in that row ?
g T L () 88 (B) 39 29. From the given alternatives select the word
e I ! which can be formed using the lethera given
W) 87 (D 18 5
et in the word.
2%. Mohan is husband of Sons. Sona is aunt of ONSLATGHT
- Shilpa. Ankit is brother of Sena. How 12 Ankit %.I'ﬁlj'r HOUSE '\_/#B‘/E;/H’DET
- rulachs bo Mohan T (C) ENOUGH (D) STRONG
Igl E:ml!: () ﬁm?er — 30. From the given alternatives select the word
: ? l:sl'-'ln.' !|I [l- "?r:;ntller-m- i Whit:h c ¢ h& fﬂmEa uﬂng thE IEttEIS U:I:
24, [fA=1,AIR = 28, then RIE = 7 the given word.
() a6 (D) 26 (A) TRANSIT  _4BY TRANSMIT
_ : (2 NATION (D} RATICHN
26. In the following mﬂesl of English a]pha'hetfl, Directions : In quesiions no. 31 and 32, select the
how many ‘a b ¢ oeur in such a way that b'is mizsing ntumber from the given responses.
in the middle and both ‘a2’ and " are on any
¥ 3 51.. 7 56 B
opnE Fide.
ab ¢ B 65 7
— gbeajlebaidaechkambeno 2 7 5
2]
_Ir .h abapkdcrhchaqgﬂ:hhctu (A} 1T (B} 256
(A) 8 B 4 G780 Dy 118 = 4
x_ 3 e g g2, 4 5 8 -ﬁ’__’_-_., _
I'/ﬁ'ul |*'- 3 '.:I 2 ’ S _:
(26 Iff PSYCHOLOGY" is codded as "9834215173" 4 10 4 i .
and ‘SOCIOLOGY is coded as ‘B12015173 &5 200 84 e
then 'PHILOSOPHY' can be codded as : A Sl
(A] 9205182023 (B 208181923 LAy 185 e -
(Cy 9205181923 (D) 8105232813 © 20 ; M e 3
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20,

21,

23.

25,

26,

W TR B ode g ®, S ga T
foeen e e & | 3R, e 2 e = #
Hiwa FeE 4 e T | wEs e e
*7

(A) Tafies (B) =

i) T (D) WorE

T A I 2 o e | oe0 3 W
F R | 10 T % =g, A2 TR oamm oW
IR 100 91 FW, A T G99 A R
L&

{A) 20, 80 (B 10, 70

(C) 15,75 (D} 25, 85

weldt $ uw ifs 5 S B @ mhe =

gﬂﬁlﬁﬁlw‘iﬁﬁﬁﬁﬁiﬁﬂﬁaﬁﬂf
2

(A} 38 {B) 38

{C) 37 (D 19

H1EE, B 9 8 |, A i ogan 2
HAiea 9 w1 wE # | @hEw, 999 8 fe
TR HaEfE § 7

(A) T (B} %8

(C) FH (D T

e Aml, ATR =28 F RIB=7?

{A) 28 (B) 29

{C) a5 (D)} 28

Frefefn sk st F s 4 et abe

W TER auiEan § R v A 8 8 oofnat e

‘o o Tomdy ot afm B
gbeajlecbaidaechkambena
dbcpkderbechagqrabefebetu

(B) 4

in} 2

14) &
1 3

aie fEfl g7 W § PSYCHOLOGY i
‘0834215173 fommn wmn &, s socoLocy
1 512015173 Tomn e &; o 5 5= ww
H ‘PHILOSOPHY %% firay smom 7

(4] 9205182923 (B 0208181923

{C) 9305181923 (D} BI05282018

27. 2 ETHICS' &1 ‘SECTIH o 3w 2, =
‘AFECTION % ey wevrt Tormr =1 wepm £ 2

(A) NAOFETIC (B} NAOFICTE
(0} NAOFIETC (D MAOQOFITCE

dt= et 9§ Fw e fin m ¥ o
A2 7ol ofr & % feu e £ | W% o W
whEE & g2 K | Ry s w5 w
wea e g
AFE
8 3 8

A

IHOMT R

-5 1a 237
MaAEIOD

(A BA8102 By 688012

(Cy 698210 o 698201

fén #u fowem 4 & 97 vy gfiy w fBo o
WEE % WE W VE0 §9% = 7w B
ONSLAUGHT

(Al HOUSE (B} GHOST
(2) ENOUGH (D) ETRONG

fow 7u fawedl & & a7 o P W fer
W T AW W WEW FE g7 e A

aweT |

TRANSLATION
(A1 TRANSIT iB} TRANSMIT
(01 MATION (D} RATION

fadm : pT e gl #irs2 H frvow Geew A @
TH &% T AT
3. 7 5 8
a &5 7
12 7 &
(Al 17
(€1 &0

2. 4 5 '8
i e R
4

(B) 25
(D} 115

Gd

{B) 40
(D) 4

(Al 1B5
{C) 20
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Directions : In questions no. 33 and 34, some
equations are solved on the boasie of @ certain avsien.
On the same basis, find oul the correct answer for
the unsolved egualtion,

3.

46,

37.

2:4?::5=$2T+1k4x9=514*
=8 xBm?
{A) E83 (B} 8&3
(C) &Gis [T #36
If 6241a9 71
and 3732 =20, then
4523 m 7
(A) 28 (B) 18
() 25 m 21
Select: the correct  combination  of

mathematical signs to replace ' signs and to
balanee the given equation,
BeieE g+ 3z

{A) +4+ += (B} 4=+

C} 2+ += D) —%xx

If *+" menns division, ' means multiplication,
" means subtraction and '+ means addition
then,
g

(280% 10 =200 — B = g2
TA) 58 (Bl 70
iz 112 1Dy 392
Seema started early in the morning on the
road towards the Sun. After some Hme she
turned to her left. Again after some time she
turned to her right. After moving some
distance she again turned to her right and
began to move. At this time, in what diroction
was he moving 7
LA} Morth-Weat (Bl North-East
(] East (D} South
‘A’ walks 10 m towards East and then 10 m to
hiz right. Then every time turning to his left,
he walks 5, 15 and 15 m, respectively. How
far is he now from his starting peint ¢
(A} Gm ¥ B 10m
G 15m D 20 m

Directions : In questions na, §9 andd 40, tw
statements are given, followed by two conclission
T and Il You have to consider the siatements ta b
frie, even if they seem fo be ‘at pariance fron
commoniy known facts. You have to decide which o
the given conclusions, i any, follow from the Bivel
atatemants, Indicale vour ansuer,

a8,

4,

41,

Statemernts

All trame are prams. No pram can CATTY
PAssengers,

Cotefusions
I Notram cen carry DESSEHPErE,

II. Some trames cannot CAITY PRESETgers.

LAY Only conelusion T follows
{B) Oanaly conclusion IT follows
(C) Both the conclusions T and 1 follow

D) Neither conclusion I nor T follows

Statements

Thiz world jz neither good nor bed. Each
individual manufactures world for himself
Conefusiong

I.  Bome people find this world quitie good, .
I, Some people find this world quite bad. |

LAY Only conelueion I follows |
(B} Only concluzion IT follows
{C) Both conclusions I and IT follow

(D Neither conclusion I nor 1T fallows

Five girls E, F, G, H and [ are standing in a
row. H is on the right of G, I is on the left of <
i, but iz on the right of F, H is on the left of
E. Who is standing on the extreme right ?

Al F B} G
icr H i E
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55T : TFT wEAT 33 H s § ¥ weien & 0w
SIS TN & SR WA fHwr T B 5 S
T, A SHE T HE I e ST

33.

a6,

a8,

2T xbebll, 1ud4dx9=014,

Bxdxg="7
(4 633 (B} 853
(C} G3A (0 834
afE o4l =0
. a71az = 20, M
4623 =17
(A) 26 (B 18
()23 Dy 21
Teu T R I Hghew W aw 4 foEi
yfirearm & fomn afnd st = w96 0 =g
T |
Growid+das32
Al +++= By ++w3
0 ws4+= D) —+=xx

Tig 4+ W Y R WL - e R o e
37 | WEET 3 4 = e A A
(280 4+ 10 x 201 -8+ 4 =7

(A) 58 (B 70O
M 112 (D 392

wE ¥R = w0 | 39 e, 9% e
Femm #1290 == o ot 0
(A) IELqleem (B} IR
) M= (D) Zfqor

w104, 9@ 1 o =Ee B oafl fopo o
M T T F R | i ow owm s wrd
AW HEHT, T8 FAE: 5, 1590 1597, T &

w9 92 A9 IRits e & el sl m g g
(A) -5t (B) 1073
(C) 167. (D) 20,

o weq mmr 30 Fr 40 4 2 e & s
fread 1 o 1 Br oww § 1 amwl wae w oo
HA fara w8 g & g i ae @ e
At @ et g e B i mr Gt
¥ @ whva, o o1 @, A w7 @ By a0 we)
& T 97 fAwerar £ | i I A &

&8,

40,

41.

HET

oft g oUW R | wE WE FEE E oS W
|

Ay -

[, i g Fanl 98 o W |

[l. % W Fan T8 o 7 5w |

et ey [ e B

e e 1 P

T [ o 11301 Freem d

7 A fowwd 1 i 9 #11 Fewe #

FEHT 2

ECR-CEIETE I e Tl e

3 T g T fafie o & |

T

L %@ wm 38 gfE % P s ooem
# |

IL %o & W g w1 FEew 50 e

g1

EECRTE AR oo B

et e 11 T &

) Fr=d 1 3 e e #

(D 7 T [t 3 # 1 em #

vig sl E, F. G, H 3 | 7% Ofs 7 =52
¥IH GHZA e I G%H wrE o #,
g FH e o | H ES o on 2 |z
BT Em s Ry

(ay F
iy H

{A)
1Bl
{ad]
(D}

[A)
iB)

By G
im E
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There are 120 students in a class. 25% of the | 48. Find the missing number from the given

42,
a8 stadents play volleyball. 40% of the
.; ?.:V \ remaining students play cricket, 50% of the
%  remaining students play feotball, How many
. 43 students in the class do not play any game ?
{A) 29 iB) 30
Sl (or 21 (D) 32
i
=% e
43. Seleet the related figure from the given
= alternatives.
s Question figures :
W
._* . "'f h"‘“ L 3 : ‘?
1 L] "\"'\.‘ f [ e L
Answer figures
| \O o
OO o/lle]
2 o
[A) (B {8 (I
44. Find the odd figere from the given
alternatives,
Ty \ #
LA} {B) (o) (D

43,

Choose the correct altérnative from the given
ones that will complete the series.

Guastion figures
Angwer figures !
LA) (B i) [

a7,

48,

TESPOILESS.

7 1

44 25
(A 7 By 192
M 193 (D B3

Identify the diagram that best represents the
relatienship among the classes given below :

Potato, Yepetablez and Eatables

(&) (B}
o (3)o

Which answer figure will complete the
pattern in the question figare 7

(D)

Buestion figure

{B)

A

CE 2013/Page 8
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42, wH w0 120 Feeff & | gs% femnedf
aTefrEe e & | 99 femiaet 8 | 0% e
wom £ | I femfdat 4 # sow weEE ded
¥ | wan o e faendf = wer A A o

(A} 2B (B} 30
(C}r 27 (D) 32
43, o m et § & weefan st 96T |
KR ?
l\\ ‘I-‘_, - L ] L]
&) O
%[ 28] 98 o8
G G
() (B} (cl (Dl
4, fau m Topet & & Room amsls 9w |
A
(A) {B) {c (D)
45, Fom o e & @ e oft faees gfe o
e EEieateake ool
ST TP
B 2
e I

{A] (B ¥ 4] i

46. oo z=d § & g dum wm fifag

Q10
&

(A) T (B) 192
(C) 193 (D) 98
47, 9F NG TEEnqT W e o o % i
W W HE R A
A, Hiesal =i @ [
(A} (B @
(Ch @G (D} @
48, HIH T A W AEH F T F @
HHft 2

7

B

(]
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49,

=
P !
- =, £ e
A piece of paper is folded and cutfpunched as

shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened,

tluesiton figures -
THIT O 2
Ll e Lo B
Answer figires :
naﬂaonnnnn o8 O
g5 ofl|o oo al|la & o go @
|
(&) (B () {0

From the piven answer flgures, select the one
in which the question figure s
hidden/embedded,

Ruestion figure

Answer fgures |

O

CA) (B

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

43,

Find the wrong number in the given series
from the given alternatives,
445, 281 104, 46, 25

[A). 25 (Bl 46
{€) 221 (D) 108

A sum of money is to be distributed among 4,
B. C, D in the proportion of 5 : 2: 4: 4. If C
geta T 1000 more than D, what is B’z ghare 7

(A T 500 (B} =T 1,500
C) =2000 (D) #2500

44,

A6,

47

44,

If P stand for +, © for «. B for = apnd © £
then find the value of the following equstic

19GOPIGR5SQ2="
Ay 16 (B 40
(C} a2 10 40
In a peculiar mathematical operation, bef

any aperation iz started, the aumbers
changed as under

1tod changedto @
b to 9 changed to 2
0D remains e,

Applying the above condition, And the answ
of the following equatinn :

T80 + 2085 + GOR3 - BADE =17
{41 1163 (B 1008
(C) 4033 (D) 2825

Usha ranks 21™ in a class of 37 studen
What iz her rank from the |gat 7

{4) 1R {Bl 17

iy 18 (D} 19

The sum of two numbers is 21 and the
product is B0, Then sum of their squares w
ba ?

A 441
mr 261

LBy 728
(k1 S6d

In the following series of numbers, how maz

0’z are followed by 9 and preceded by 5 7
10911650920123281393
B0B4814T1675500615

4y T (Bl 3

B) o 4

LOVE ig coded as 1357, and HATE iz coded ¢
24687, What do the fipures 8417 stand for ?

{A] HEAT (B} LEAD
iC) TALE (DY LATE

CE 2013/Page 10
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43,

e w sl i e aEEw FE F U
e T HIEEA S au =ie 5 AE aE
TRz ATt S fmd o
T AT
RGN 2
I M -

LA} e (e L0

& T I ekl § #, T T amsh oW
g fomd we st fifim 2

(A) (B} (e (D)
AT grEwTaT IR iEaT & fem
i m o 4 & < AEen § wew wE
7 Fifem, |
4406, 221, 108, 46, 25
(A} 26 (B 46
() 221 (D) 108

TR A B O DFAEE 24 9%
g H #ie 5 # | =ik o w1 D A Aue
T 1,000 g ferm 2, & B T S
7

{A) T 500
{C1 T 2000

(B} 7 1,500
(D) ® 2500

45,

47.

48,

af.

gt pwr w4, QW WE R« BT WY B
e

+ 3% G F AY E A T 5
mm'ﬁ:&ﬂ:
I9GoPIGBR@2=7
(A) 16 iB) 20
(Cy 32 i) 40

v fafime afodm wfen |, fed @ o@fEn &
TREN # T, WEE # FE en @gen @
7
18 4% gz §1
5B O g2ed B 2
5[ I H T R
I o = S e g, e weE
1 I W Sl

769 + 2085 + B0E3 — 8308 = 7
(A1 1163 (Bl 10089
() 4033 {D) 2836
a7 Ty =Bt v ey w7 = WA 21T
£ | 3§ 3O FuH A =
(A} 18 (B) 17
(c) 18 (D) 18
51wl wOTEe 21 & el s e
90 8 | AT 3TF = o G fiswm B e

(A 441 iB) 728
i 261 (T} B&D
frefafan semagme & 9 v 4, e

T 915 ° o HA 7 v 5 ot e # o
10891150920123281383
500481471675509615

Ay 7 (By 3
iy 3 (4

TH FE W H LOVE ¥ 1357 o = &
#n HATE %1 2467 formn e # | &1 o6 52
TAT H 6417 T = e T A o

(B} LEAD
{0} LATE

(Al HEAT
fC) TALE
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- given with blanks to be fitlad in with an appropriate

PART I : EIN SH LANGUAGE

Directions : In guestions no. 51 to 55, some pariz of the sentences have errors and some arg correct, Find
oiet Which part of & sentence kas an error and Blasken the oval (@) corresponding to the appropriate letter

{A, B, C). If o séntence is free from error, blacken the oval corresponding to (D) in the Answer Sheet.

51. [want toger/a MA. degree/ fronr & reputed universiy lorated in India. / No error.
(A (11]] {10 {D}

B2. ot only she makes / home-made cakes / she also sells them. f Mo error.
(4] B33} {8 (o

B3, Pandit Hariprasad Chaurasia played / a flute at the Music pnferenes f in-a smiall town. / No error.
Al ) {cy )]

54. They are / ignorant of / what is happening here., { Mo error,
(A) {B) (C} (D

55. My mother made [ the servant to / complete the work, / No error.
LAY (B 18] (v

Directions : In guestions no, 56 fo 6, senfences ore | 58,  She asked me

4} whatwas the time

word(s). Four alternotives are suggested for each
(B} what i& the time

qusestion, Choose the correct alternative out of the

four and indicate i by blackening the appropricie (01 what was time
qugl (@) in the Answer Sheet. (DY what the time was
. | The doctors and the nurses worked hard to
the dying man. 59. A legislation waz passed to pumish broker:
polfh) bring up (B} bring out who____ theirclients’ funds,
(Ch  bring back (D bring round 'AY Aclgabata (B davour
57. They tried to bribe the peon but he (C} embezzle (D defaleate
them.
(4] has been too clever for 60. He fell down a flight of stairs and broks
iB} was too clever for R
(1) was being clever for (A & (B the
[0 was clever for - (C) his (D) up

CE 2013/Page 12




Direetions  In guestions no. 61 and 68, out of the
the one which best
expreszes the meaning of the given word and mark o

foiir iernatives, choose

n the Answwer Sheet,

61, Siratagem
(A} Stratum {Bl Ruby
2y Triek (I Strait
62. TForsake
u,m’ Abandon (B) Forego
1C) Disintegrate (D} Separate

Directions ¢ In guestions #o. 63 cnd 64, choose the
word oppesite in meaning fo the given word gnd
mark it in the Answer Sheet.

63. Dwreary
(A) Bolitary (B} Dribble
(2 Unususal (D) Interesting
684. Heen
(Al Tmpaesioned (B Indifferent
IC) Clever (D) Immobile

Birections : In queations no. 65 and 66, four worde
are given (n edch guestion, ot of which ondy ane
word (& correcty spelt, Find the correctly spelt ward
aned mark your grawer in the Answer Shest,

65, (A} privelege (B privilege
() priviledge (D} privalege
686. (A) hipepetamus (B} hippopotamus

() hippopatemus (D) hippopotomous

CE 2013/Perge 13

Directions : In questions no, 67 fo 68 four
alternalives  are  given  for  the Idiom/Phrose
vnderlined in the sentence. Chooge the olternotive
which bes! expresses  the meaning of the
Idigm ¢ Phrase and mark i in the Answer Sheet.

67. We could =it here and talk till the cows come

Fome.

iA} for a very long time '

(B} foravery short apan of time

iC) if the cows come home quickly =
(D} if the cows come home slowly =

8. They earn so little that it is very difficult for

them to keep the wolf from the deor,
{Al

have less money toe aveid hunger and
need

have enough money to gvoid hunger and
need

to hide the wolf behind the door =
to display the wolf before the door o

(B

(Ch
(D
Arvind finally got through with his doctoral
thesiz,

(A finally cleared his lagt examination

{B) left the thesis half way through .

{C) finally finished his thesis after hard toil
(D) was awarded his doctoral degree

Directions * In questions no. 70 to T2, oul of the
four olternafives choose the one whick can be
subgtituted for the given words/serlence.

T0. - A place of shelter for ships.
(A} Helipad (B} Port
(0} Harbour (D) Barrack
71. A shopkeeper who sells fresh and green
vegatables,
i4) Butcher (B} Shophkeeper
{01 Vender (D} Gresngrocer
72, That which cannsot be consumed by fire,

(A} Inflammable {B1 Inexheustible

(7} Ineombustible (D0 Invineible



Directions @ In questions ne. 73 and 74, o part of
the asentence f& Lnderiined, Below are muen
alternatives to the underlined part at (A) (B), (C}

which moy improve the sentence, Thoose the correet
elternative, T case no improvement [ reeded vour
answer iz (D) Moark vour answer in the Answer

Sheet.

73. Historians feel there i3 &n earnest need for
the review of history hooks every five years
and a revision of the same every ten vears,

{4) indispensable
{0 mperative

(H) urgent
(D Noimprovement

74, When describing the accident, he wasz in
fears.

(A} In describing

(B} When he was describing

() As degeribing

(D} Mo improvement

Directions : In gquestions no. 75 fo T8, o senfance
has boen given in Actives Possive Voice, Out of the
four alternatives suggested, select the one which best
expresses the same sentence in Possive/Active Voice
and mark your ansier in the Answer Shest,

76. Dhfferential Caleulus is being learnt by the

girl.

i4) The girl is learning Differential
Caleulus,

iB) The girl learns Differential Calenlus.

it The girl was learning Differential
Calealus,

D) The girl has learnt Differential Caleulus.

6. He asrranped the furniture in the howses

goeording to the decorator’s plana.

{A) The furniture was being arranged in the

housge according to the decorator’s pians.

The furniture had been arranged in the
house according to the decorator's plans.

The furniture have been arranged in the
hose according to the decorator’s plans,

The furniture was srranged in the house
according to the decorator’s plans.

CE 2013/Paga 14

(Bl
i

(I

77. To make the batter add one tablespoonful of

baking powder to the cake mixture.

(A Let one tablespoonful of baking powder
he added to the calke mixture to make
the batter.

Let only one tablespoonful of baking
powder be mdded to the cake mizture to
mzke the batter.

One tahlespoonful of baking powder may
be added to the cake mixture to make
the batter.

One tablespoonful of baking powder
esuld be added to the cake mixture to
male the Datter,

(B}

(G

{0

By whom is.John looked after 7

(4} Whao looks after John ?

(Bi John Tocks after whom 7
$C1 Whom leoks after John 7
{0y Who iz looking after John 7

78, The horse jumped sver the fence:

iA} The fence might be jumped over by the
horse.

i{B) The ferice was jumped over by the horee.

{1 The foree by the horse was juniped over.

(T The fence was jumped by the horse,
Directions : In guestions no. &0 to 84, o sénlence
has been given in Direct/Indirect. Out of the four
alternatives suggested, select the one which heal

expresses the same sentence in Indirect/Direct ang
muark your arster in the Answer Sheel.

80. The mother urged the child to come on the

footpath.

{A) The mother said to the child, “Come on
the footpath.”

(Bl The mother gaid, *Come, child coms
Come on the footpath,”

[0y The mother said, “Please come on the
footpath, child.”

(D} The mother said to the child, Vo
should come on the festpath,”



81. Sushma said, “We shall celebrate the festival
of Jenmashtami tomorrow,”

A Spshma said that we should celebrate
the festival of Janmashtami the next
day.

(B) Sushma said that we shall celebrate the
fostival of Janmashtami the next day.

(¢! Sushma said that they should celebrate
the festival of Janmashtami the next
day.

(D} Sushma said that they would celebrate
the festival of Janmashtami the next
day.

82, “I'm so tiny that I can't reach your branches,”

zand the little boy to the tree.

{A) The little boy saad that the tree was s0
tiny that he couldn't reach its branches.

(B} The little boy said that he was so tiny
that he couldn't reach its branches,

i3} The little boy told to the tree that he was
so. tiny that he couldn't reach its
branches,

{D) The little boy told the tree that he was &0
tiny that he couldn't reach its branches.

“I'm sorry I cannot stay,” sand the swallow.

“T'm waited for in Egypt.”

{A1 The swallow teld that he iz sorry he
cannot stay and added that he is waited
for in Egvpt.

(B! The swallow said he was sorry he

couldn’t stay and added thab somedne

wag waiting for him in Egypt.

The swallow regretted he couldn't stay

a5 he was waited for in Egvpt.

(D) The swallow regretted that he was
waited for in Egypt and couldn't stay.

(Ch

84. The notice reads, “Trespassers will be

prosecuted.”

{A] The notice read that trespassers will be
prosecuted.,

iB1 The notice read that trespassers would
he prosecuted.

i{C) The notice reads that tre¢passers would
e prosecuted.

(3} The notice reads that trespassers will be
prosscuted,
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Directions : In questions no; 85 to 90, the 1" and
the last sentences of the possagelparts of the
sentonce ore numbered 1 and & The rest of the
nasange/ sertence ia split indo four parts and mecrrmed
P, ¢, R and 5 These four parts are nol glven tn
thair proper order. Read the passage/sentence and
find owt whick of the four combinaiions & correct.
Then find the correct answer ohd indicate it by
blackening the appropriate oval (@] in the Ansier
Shest.

E5, 1, Self help means doing our own work

curaelves.

P. They prefer to have things done for
them.

The most successful man is he who
depends the least on others.

G

R. There are men in our society who
don't exert themaelves.

8.  Such people are raraly successful.

& He has & strength of mind and
determination to succeed on his own.

{A) RP3Q (B} PQES
IC). QPSR (D} QSEP
86, 1. At the time when the city of Venice in

Italy was rich and famous, one of her
+ chief citizems was a merchant named
Antonio.

P. He had many friends, among them a
young Venetian nobleman called
Bassanio,

But Antonio loved him and gave him
money whenever he needed it.

Although he ceme from a noble
family, Bassanio was poor and spent
mare money than he could afford,

- &

% Par the merchant of Venice was a rich
man, who owned many shipse which
traded with foreign countries.

[A) POQRE By SgRP
0} EPRE (D) PR5GQ

He was well known for his kindness.



Drug addiction has now become one of
the major problems of our society.

PF. There should be joint effort of family,

gpovernment and social crganizations
for prevention and cure of this curse.

£). The possibilities of these young men
and women are nipped in the bud.

R, In such an alarming situation, we
cannot remain idle onlookers.

&, Mapny voungsters are becoming
victima of this deadly curse,

A We ghould take the pledge — “Lat us
unite for a drug-free workd.'

SQRP By PQRS
PSQR () RGPS

(Al

L]

Taunami’ whith means harbour wave"
P. usually an ocean

&. of alarge volume of a body of water
R, isa series of water waves

S, caused by the displacement

6. though it can oecur in large lakes.
RQPS R5QF

SROF TV . PSQR

LA (B

{15

Dante was of moderate height
P, clad glways in such aoher dress
Q. with a slow and gentle pace

K. was accostomed to walk somewhat
bowed

5. and after maturity
B, as befitted his ripe vears,
(A} SRQP {B) RQsP
1y PSHQ {0} QSRP
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Gueen Elzabeth had the mind
P. and nurtured her country

. through careful leaderzhip
R. of a political genius

5. and by choosing capable men

4. to assist her.

1A) RGSP (B RPQS
(G PSRQ (D) SFRQ
Directions ; In queations no. 81 o 83, in th

following possage some of the words have been et
Read the possoge carefully and ehoose th
corFfeal ansuer to eoch guestion owt of the jfou
alternatives and [l in the blanks:

et

The sun had set but there was still som
light in the sky. Martin 91 on his elbow am
looked 92 through the leaves. In the waters of th
lake, cloge to the shore, he saw a 83  of alligator
floating quietly, One of the creatures, 94 hug
one, was lying on & high 95 of sand, a few yard

from the water.

91. {A) crossed (Bl leaned
(Ch lay (D) eat
g2, {A) down (Bl at
(Ch for (D) into
93. 1A} family (Bl wolume
(C) number (D) semblance
4. (A s (B} one
LC1 single (D] &n
895, 1A) peak By pit
LG pile (D} bank



Directions : In questions no. 96 to 100, you have a

hrief possage with § guestions following the
possage. Read the passage carefully and chopee the
Best answer o egoh guestion oul of the four
by blackening the

() in the Ansuer Sheat,

alleragiives and. mark i

OpproEERoie ot

i could not help thinking, as I looked at theq

works of Shakespeare on the shelf, that it would |

Seve been impessible, completely and entirely, for
==y woman to have written the plays of
Shakespeare in the age of Shakespears, Let me
imagine, since facts are g0 hard to come by, what
would have happened had Shakespeare had a
wonderfully gifted sizter, called Judith, 1ef s aas.
Shakespeare himself went, very probably — his
mother was an heiress — to the grammar school,
where he may have learnt Latin — Ovid, Virgil and
Horace — and the elements of grammar and logie.
He wes, it i3 well known, a wild boy who poached
rabbits, perhaps shot a deer, and had, rather sooner
than he should have done, to marry & woman in the
neighbourhood, who bore him a child rather guicker
than was right. That escapade sent him to seek his
fortune in London. He had, it seemed, a taste for

the theatre; he began brv holding horses at the stage

door.

CE 2013/Page 17

86,

Which of the fallowing atatements is true 7
(A) Shakespears’s mother was poor,

(B) Shakeapeare learnt Reman.

(T Shakespeare did not have a gister.

M Judith was Shakespeare’s wife,

“Come by" means

(A} maintain BT manage to pet
(C inwent (I search
The passage ig about

1A} Shakegpeare's sister
By Shakespeare’s theatre
(0 Shakespeare’s writing

(I Shakespeare's life

Shakespears's marriage reveals that he was
(A1 impulsive (B talented

iC) wise (D} stealthy

100, Shakespeare's sister was

(A1 wise

(B} imaginary

{Z) famous ‘D ordinary



P

PART III : QUANTITATIVE APTITUDE
101. The angles of depression of the top and the

3
106. If se¢ B8 —cos b= = (Biza itive acute
bottemn of a building of height b units, from B
the top of 8 monument of height H units are angle), then secf iz equal to
complementary. If the distance between the () i (B) O
building and the menument is ‘a’ units, then .
it is always true that () 1 7 @
ohe H“ = A
i T 108. The baze of 3 pyramid of volume 4843 ¢oie
Bxi h an equilateral triangle If the height of the
L = TR pyramid i3 Lcm, then each zide of the
equilateral triangie at the base iz
(o H__a (Al 3em B 4¢n
a H-h (€ Gom Di 12w
oy H+a H 107. In a triangle ABC, AB =3 cm. BC = 4 om
H-a & and £ ABC = 3. The trianse is first rotated
_ around the side AB aad then around the side
102, ¢ 22cH +tanB  2+43 , then the valus BL. The volume of the Se=t cone, thus formied,
secH — tané 23 s X more than second come Then x is aqual
of @ in circular measurs will ha o
4 X i+ M (A) 25 B 33
12
8 o i3t
iy X oy = uHie XS
3 g
108. The b [ a right- i fre=mpl 3 umits
108, If cos 43° = % Al e e hasze o ang'hta.r.g,m_ ;Elﬂuu!.'ﬂ
T 1-’2 and hypotenuse is 13 snita. Then the area is
tan 47° is (Al 15 sg.uniis (B 30 =g units
? (C) 12 2. units ¥ 58 aq. units
B s | I
UEE*FE x 109, A wall 9 m long, § m hish ==d 30 cm thick is
to be constructed using Beck= of dimension
oy X () X 20 cr x 16 em = 10 em. How many hrigks will
¥ x% -2 be required 7 3 FANE dpmt i 1.0
5 r’h-ryr-f.lf
{A) 2800 B Se0G
104, Thevalueof ——— + — 1 s equgl () 3200 (D2 D
1+ot" o 1+tan“o
to 110, The diameter of a sphere is & e Tt s meltad
(A) 1 m 1 and drawn into a wire of dismetsr -1 om.
: Find the length of the wire.
1 {4} 24 om (B 25 cm
i - D
93 P (C) 86em (D) 42 cm
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101,

_ T 111 : AT AT s
b TR ETE =T S WA & T o it
HEEE % IV, H UFF S8 % UF WY F
Fira 5, o % | AR wem it v A A
0 U ¥, Al 9z wia W g R

h a
(A = =
a H-h
H+= h
(B =
H a-H
H a
Gy ==
" & H-h
Hin H
o = —
4 H-a h
102 'ﬂfﬁ EECB+ta;:|lﬂ'= 21—4’5 E ?ﬁ'ﬂ'ﬁ'ﬁﬂm
’ secd —tan® o_J3
o o= HE B
()= B} =
4 1%
oy X iy =
5
108, T wsd2e= 2 R T tan 47T H AR
:'r.3+:.j
#
':‘:'4.1 I=':lr_—lr [E.I i
_ulxﬂ_'_},.& X
(Ci i (D et SN
¥ 1-'12—}r1
104 —— - — L1 = o fd wow
1+ef o l+tan® o
B 7
(4 1 (B =
1
1Ch E (o) 4

105, IfE sec 8 — coz B = -

106,

107.

108,

108,

11,

2 (0w w = wm R,

it sec 8 ﬁ-ﬁl%m{ﬁ?
X[

A - (Bl D
(e (D) 2

a
AT 4843 oo T UE e = smwm o
g figs % | ok Wit < e dem B,
it smam & FHaE B & ues e
A1l Jom {B) 4em
(2] Gcm (D 12 cm

% FiM@ ABC #, AB = 2 em, BC = 4 om 3
£ ABC = 90°. BMF & 158 4= AR 5
o T & o fe yw Bo % TR | 5 wen
B R WE T OAEAR GE 9w 4 e #
x5 A= R | o« ewE I B 7

(A) 25 (B 33%

() 20 ) aa%

UH TR A W e 5 v § o 3
13 v ¥ | 7 dmwa

(A) 1597 TS {B) 30 v

() 1291 vEE (D) B0 TS
Emﬂiﬁmﬁmﬂﬂcmﬁﬁﬂaﬁ

Eﬂmxlﬁmxlﬂmnﬁm'dﬁﬁﬁﬁm
Tih T e 2 | Feerd £ amfem =0l 0

{A) 2800 (B 3600
{C) 3200 (D) 2400

UF NS F AW 6 cm ¥ | 3F fwen =
0-1 ¢m = F TR AR A arem v | A f
e W Hifam |
(A) Z4.cm
() 36 cm

{B} 28em
(D) 42 om
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111, The greatest number of solid cubes with
0-2 metre edges that can be packed in a box
whose inside dimensions are: ] m by 1 m by
Z mare
[Ay 10 (B 25
(Cy &0 Iy 250
llﬂi - Jength of a wire iz 66 m. Then the
H .II umber of circles of circumfersnce 1-32 oy
ﬁ__f; : that can be made from this wire ie
M A)-80 (B 100
| A ©) 1000 o BY 5000
I_-*"{:IIE- Suppose O is the incentre of A ABC and the
oircle touches the sides BC, CA and AB at the
=i points P, Q, R respectively. If £ A = 60°, then
| the magnitude of < QPR is
‘ (A) &0° (B) 90
| 5 (Y 1207 (D 100°
114. In an isosceles triangle ABC, AB = AC; a

cirtle drown with AB ss dinmeter intersects
BC at [¥, If BD =3 ern, then the length of CD
i

(B} 5cm

(0 &em

(A} 1:65cm
& (1 3em

| 115. A wvertical stick, 12 cm long, casts a shadow
8 om fong on the fround. At the ssme time a
tower casts 2 shadow 40 em long on the
ground. Determine the height of the tower.
tA) 40 cm B Bl em

(2 B0 cm D} B0 cm

118. If O 35 the crcumecentre of a nght-angled

triangle ABC, right-angled at B, the pozition
of point O 15

Ay mid-point of CA

1B} within triangle ARC

(Ch outeide the triangis ABC
i) liez on BC

117, If in a triangle PR, PQ = 3 cm, @R =5 ecm
and PR = 4 cm, then the angles of the triangie
in descending order of magnitude.are

(A} £ =z = =R a M
I APy -—;il
[ ST G

() 2P >R »2Q

D) £Q > LR »£P P& <ZPILLGE

118. Thegraphsof x+¥ =4 and 3x+3v =8
{A) intersect at the point (2, 2]
(B) intersect at the point (1, 3}
() inkersect at the poink (3. 1)
(D do not intersect
110, If yz:exoxy=1:2cdi{x, v 20) then
X . L
ST
¥z X
ay L B =
4 2
Lo i (D 4
2
! £t f: 1
120, If = =2, then the value of =% + —
X
18
(AL 4 () -8
(e 12 (D} 34
I21. Ifx= —l—p- then the valueof x°+ 2x 4+ 3
1++2
13
Ay 3 By 0
iy 4 (1
122 Ifa+b+ec=4, then

a0+ b +c®— 12¢° + 48 - 64 iz equal to
(A} dabe (B) 3Zabe—12ah
{C} B3abc + 12ah (DY abe+ 12%ah
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111.

112,

113.

114.

115.

116.

0-2 HiZd FN] 91 38 e &) iy e,
78 1 m« 1 m» 2 m AN faged o ==
4 & f&ar =1 o B

(B} 25
10 250

(A 10
i 50

T A S A 66 m R | 3 59 AW # @4 =
HFA 9 132 em THIT W FET 6 A R
(&1 B0 B 104

C 1000 (D1 5000

WA T % O TF 4 ABC =1 smidg & 30 g4
BC, CA 9wl AR Yosli &1 59 P, @ R
frgsi med s & 13 ca-60- 8, &
2 QPR = TR B

{4) B0 (Bl i
() 120° (D) 100°
T HUiGEE YA ABC H, AB = AC; AB =R

¥ =y wi=n 0 U g9 BCF D W vl
wAl # 13 BD=3cm B, A CD %) 7R §

A1 16 om
{C1 dem {I) Bem

12 em W TR FeEt UE 4ff 9 8 om w4
Tl EEA 3 | S, UE HEE 9 W
40 cm T BT TR | dER A S
il |

(4) 40 cm {B) B0 cm

(2 60 em (D) 650 cm

{B] Scm

o 0 TR R S ABC ®, B W
HOR 7, TG £, 7 A 0 & @

(A) CA I He.Tamg
(B) FYH ABC & Hhw

iy YA ABC % #TET
D) BC & T

117. 7 99 PQR Y, PQ =8 cm, QR =50cm N

118.

119,

121,

PR = 4 cm 2, 7 fw & =, oimm &
A wa A, ¥

(Al “P>-0 >R

(B) 2@ >~2P >4k

8 2P =L R-=20Q

(D} £Q >£R > 2P
x+y=4ﬁ3x+ﬁy=ﬁﬁmﬁﬁﬂﬁﬁ3ﬁ
= 8

(a) Bz, W

B fgaa m

€ o m

(D) wfEsy T8

aff vrimxixy=1:2:3(x 5 z=0),7
s 2 g

¥z | EX

(A % (B} L

G -3- (D 4

AR T s R S T
kA xd

(A 4 (B} 8
oy 1 (o 24
1 =
ﬂ'ﬁx: Bl s 2O B
142 ’
(&) 3 (B} 0
(C) 4 (o 1

122, ‘ﬂ'ﬁ.‘. a+h+te=4 i,fﬁ

aa+h3+c3~1202+45::—ﬁ4$i:ﬂ?$
(A} Sabe
{1 3abe+ 12ab

(Bt #abc - 12ab
(D) abe + 12ah
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123,

124,

125,

134,

12T,

1i8,

8 men can finish a piece of work in 40 daye, If
2 more men join with them, then the work
will be completed in

(A} 30 days
{1 36 days

(B} 4Zdays
WO 25 days

The driver of & car driving @ 36 kmph locstes
a bus 40 m shead of him. After 20 seconds the
bis iz 60 m behind, The apeid of tha bus is

(A) 38 kmph (B} 20 msec

Ch 72 midee (D7 18 kmph

A produter of tea hlends two varieties of
tea from two tea gardens, one costing T 240
per kg and the other # 00 per kg, in the
ratio 5 : 3. If he zells the blended variety at
T 315 per kg then his gain percent is

(A 10 By 20

2 1
i1 16= 0y 11=
i o

A pnd B entered into 3 partnership with
capitals in the ratio £ 6. After 2 months 4

withdrew % of his capital and B withdrew

|
— oF his capital, The gain at the end of
i

10 months was T 760. A's share in this profit
13

(Al T 330 (Bl ¥ 380

(C) T 450 (I 2 540

A shopliesper earne a erofit of 15% on selling
a book at 10% discount on the printed price.
The ratio of the eost price and the printad
price j5

(A 1621 (Bl 18:21

() 172y (D) 18:5%

The selling price of an article is = 99, If its

cost price is numerically equal to its profic
percenit, then its cost price (in ) is

(Al 25 {B1 a0
(Cr &6 D 37

124,

1340,

131.

182,

133,

134,

13a.

N —————————————

A man sold two tables for ® 720 each. O one
he gained 204% and on the ather he loat B05.
Find his total loss or gain in this transaction.
(Al No gain ng loss

{B) Lossof ¥ 60

(T} Gainof T 60

(D} Lossof & 50

The difference  between simple pnd
tompound interest @ 10% per annum of &
sum of T 1,000 after 4 years is

(B) T 3210
Dy ¥ 64-10

(A ¥ 31
() T didn

The average of 15 numbers is 7. If the
average of the first 8 numbers is 65 and the

average of the last 8 numbers is 8:5, then the
middle number 1=

(Al 10
C1 118

By 23
Iy 15

If V15625 =125, fnd
J156:25 + 1.5825 — JO.015695.

[A) 13:625 (Bl 13-
(S 12-5 Lk} 2-a75

The sum of three numbers is 121, The ratio of
the second to the 3™ ia 9 - & and the firge to
the 8™ 1: ¢ Thé second number is

(A1 B0 B) 52

) B4 (D &8

Two numbers are in the ratic 3 - 5 and theip
L.C.M, iz 75. What is their H.C.F, 2

{al 4 (Bl 5

() 10 (D 15 e

A's salary is 30% higher than B's aalaryThae
percent that B's salary is less than A's salary
is

(A) 30% (B) zai-]iﬁ
(@ 0% (o) 25%
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123,

124,

125

126.

127,

128,

|.""

& WEdT T wW Ft 40 ER T o awR B
If 7% Y 2 SEd 3 fus and, 9 =W

frma 9 @ o B = 2
Ay sofE= Bl 32
iy aefEA iy 26T

36 kmph 1 T F FE = W gEa A A
40 m 3 UF B oEa B | 20 HEUE % 9N
=0 a0 m TE T I R | wE ol R

{A) 36 kmph {B1 20 misec

(T} T2 misec () 18 kmph

=7 =1 UF I9EF I & 8 gl | g TR
I GIF 5.3 F 27A 4 fenm 2 — 0%
A T o240 9 ke B o3 g 1 T o300
wfi ke | 3T = TullE =12 R T 315 T ke
i 21 W =, A I @9 A wem

(A} 10 (Bl 20

g

8] IEE (0 11l

8
AsiB3 a5 3Ty g dfen & oy
WEER #1 | 3 TEF & w5 A 4 o gm0
iwﬁﬁmﬁﬁaﬁmrﬁw%
arrm o fn | 10 oF = o ° A 760
g (e T A e

(&) = 330 (B} T &30
(C) = 450 M T 540

T THEFE g5 g7 W 10% 92 W U §EE
o w9 15% ¥ @Y Fiag = # | | g5

i gfem gy 1 wgEE
{A) 18:21 (B) 1A:21
() 17:23 {DY 18:23

TE T w fwa g T 30 # | AR T
TR E ST B9 H I6E wi R
e B, T e e (T ) 2

(A) 25 (B) 30

() a5 (D} 37

128.

1340,

131.

132,

133,

154,

135.

T WEHt 4 9 AF &=, uee T 20 W | U
™ 3 204 W Be0 AW TEO W 20% EF
30 o H aw T T o omh o

(A) 7 M A A

(B T g0 ® =

(C) T 60 Y

(D) ¥ 50 w4

7 1000 1 Tf W 1o o i o omow
W S TREly I O A 4 9§ AR
e

(A) T 31 (B) ¥ 3210

(C) ¥ 40:40 D) ¥ 64:10

15 FEmAt = afteE 7 B | A et 8 HEA
w1 3ET 65 2 afn aifm 8 TEma = s
g5 B, F WET TEAT £

(A} 10 (Bl 23

() 13 D 15

o2 /15625 =125 &, A

J156.85 + 41.5626 - JD-015625 T
=ifam |
{A) 13-825
(O} 124

(Bl 136
(D 2376

d FEmad w1 AR 121} | g0 w5 A
AR oA TR AW A 14
ol e &
(A) BO (B} 62
(C) B4 (D} 88
3t HeEd 3 : 5 % W § § 3 T @
TS 75 # | 3% HEAH SEGEns w4 B 7
(A} 3 (B B
iCy 10 (D) 15
AT A B F I H 0% HE R AH
Tm & gl B B 5 999 6t ofeme =06 3

ik
(A) 30% (B) 28—%
() 205 (I} 25%
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136.

137,

138.

139,

L4t

141.

1 minmte 48 seconds in  the porcentage of
1 hour is represented by

(A 2% {B) 3%
01 4% (D) B%
ﬂ + ﬂ simplifies to
J5+43  JE—43
(A} 5 +46 (B} 25 4 .J8
(C) B -6 (@ 2J5— 348
Lo & 0 a8
H.C.F, of E-. E, EI E, E 185
1 1
2. e
s 2 10
O 1
{ s (DY —
¢ 120 120

The sum of three numbers is 132, If the first
number 1s twice the second and the third
number is one-third of the first, then the

second number 15

(A} 80
(Cy 28

(B 4B
(o 32

The least perfect square number which is
divisihle by 3, 4, 5, 6 and 8 is

CA) 800 (B) 1604
(C) 2500 (I BE0E

24 ia divided into two parts such that 7 times
the first part added to & times the second part
malkes 145, The first part is

4 11 {B1 13

C1 1B (b1 17

142,

143,

144,

145,

146.

A number when divided by 5, 8, 13 leavas
remainders 2, § and 10 respectively. The least
sach number is

[Ay 872 (B) 582

(C) 602 (D 582

The base of & prism is ano eqguilateral
trizngle of eide 12 cm If the volume of the
prism ig 1080 e, then the total surface area

of the prism in 2g. ¢m i3
{Al 7243 (B) 36043

(0] 43243 (D 1080

=

If tan 22%"::;. then eos 67+ is equal ta
R

(A ——— (Bl x
Jyl+X

(C) y1+x> o

1|'1+:':E

In the sequence

4,18, 88; ...

the 4™ term is

{A) 58 (B} 96

i) 111 (D) 123

ir r.2+32=;.r2+|:r2=31+|:|]f=1, then the
numerical value of az-e-bﬂ 15

A 0 B} 1

(ch 2 3
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e ———

196, 1 firz 48 =TT &7 UE 92 & wiwm w9 d

forn = #
(4 2% (B a%
) 4% (DY B%
1442 1-+/2
a5 T e B
(A) +B++B (B} 2J5++8
(€} J5-+8 (D) 245 -3.8

s, L 2B T 9 o rem wresden 2
'3 8 8

il
1
Ay — (B) =—
: 2 10
g 1
LB ﬁ [EE 1 E

139, # wmmai o AEe 132 # | 3 Tl e
wft g & g & s dwl e g
s ) - 3, T g0 = A

(A) B0 (B) 48
(C) 28 (D) a2
140. 3.4, 5,6 3 g ¥ Ty =maw i 9 w0 R
(A} 900 (B] 1600
(C) 2500 (D) 3600

141, 24 Ft @ W # =8 TR e T § R aE
nmaﬂ?gun'a@iﬂm#ﬁ‘jﬂnﬁﬁlﬁﬁms
AT B | TR A A
(4) 11 {B1 13
(C) 15 (D) 17

11
L

142, Freft wEm =0 5, 9, 15 % fowfim =5 = F99-

o & o 10 3 wEw # | T FEE S FE
2

{A] BT2 (Bl 592

iy B0z (D) 582

143, TF figw = sy v oEa fa @ fae

144.

145.

146.

T 12 em | AR B T A 1080 o B,

1 fsn =1 =1 TS S, T em d, B
(A) T2+43 (Bl 3603

{C) 43243 M) 1080

g tan E.Erli-ﬁ=x‘g.# -:nsﬁ'?%n {E ==

T 7

LAl = By x
-,‘|1+r 4
—
© 1= et "
¥ ]
1.Il+x

W 4, 19,38, .8 dim = |

(Al 55 (B 96

Cr 111 (D 123

e Piadeibimax+hy=1 B, WM

a2+ bY T HEEEEE O E
(A) 0 (B 1

cy 2 {Dy 3
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Directions : The histogram below shows thé marks
of &0 students wt an syamination. Examine the
diggrom and answer . Nos. 147 pnd 148

Y

12
111
10

=1 GO K0

Mumber of siudents ——

o0 0 40 50 60 70 80 90 100
Maorks ohtained —

147, How many students obtained less than 407

(A2 By 6
(o 4 [
148, 1§ the minimum marks for getting scholarship
i B0, how many students will get it ?
(A) 13 (B) 12
cr 10 I 11
Directions : The following pie-chart shows the

result of an examination of 260 studente. Study the

chart and answer Q. Noa. 149 e 150,

Paszged in
gecond division

Pagged in
t;tlil'd division

149. The number of students whe pazsed in second
division is more than that in third division by

(A B4 By 50

{C). ‘bl M a4

150, The percentage of students whio fatled is

(Al & (B 20

(C1 10 (D) 16

FOR VISUALLY HANDICAPPED CANDIDATES OHLY

147. If the height is doubled and the base is
decreased by 20%, then the ratio of old area of

the triangle and new ares of the triangle is

(A} B8 By 310
{8y 4:6 (D) 5:8
148, I tan 20 tan 4f =1, then the value of tan 34
is
tA) 0 (Bl 1
() V3 e
1.'3-
1 : LI
149, If ax+ — =c, then the value of bx+ — 18
bix at
2
ac a
Al — By —
i - be
W e o 2
alb a
150, A certain sum smounts io ¥ 5,182 in ¥ years

and ¥ 5,852 in § years. If the glmple intereat
i caleulatad annually, then the principal is

(A1 F 2,000 By ¥ 6,000

{C) T 33882 (D) T 4,000
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. % oy - @ e 750 O
& i ZUHT # | TG I FEAT T AN T T
147 FET 148 FT FACG
T

A

11
lnl ----------------------------

K
¥
B

149, T At 5ol ot 1w i A A

20 a0 40 50 60 70 B0 90 100
TR R ——
147, Tred wEt 2 40 & W 3 AW R 2
(Al 2 (Bl B
(4 iy 5
uﬂ.ﬁaﬁﬁrﬁﬁ&amﬁﬁm-ﬁmﬁ,ﬁw
Ty o e
(&) 13
(C) 10

By 12
oy 11

Fidor » Prfaran g-SE 360 ST # OF T4
wwmﬁfmmm#aﬁrm
ST 149 AT 150 & IE |

i w4 T s g 7

(A} 54 (B) 50

(C) 51 (D} 64
160, i ol & gl #

(A1 5 (B 20

(Cy 10 (D) 16

Sreres gfiranfirm T o form

147 R S # mEn W S iR SR
mmﬁﬁmmiﬁﬁﬂﬁﬁ%‘gtﬁm

#ﬂﬁgﬁ#mmmaﬁm%
(A) 2:3 (By 8:10
(C) 4:5 D) 5:8

148, T tan 20 tan4é=1 B, A1 tan 36 W B
(B) 1

- 1
[ T M =
J3

Ay 0

140, T axs Lo B M bxe — WAAR
Tx H5X

2

ac
A — | —
b e he
c] = o be
ab a

150. aﬁiﬁzaﬂﬁ*a,;azﬁmﬁ%aﬂtaaﬂ
ﬁzs,e.azmﬁmmama?rmmmﬁm

w4 4 w5 T, o g B
(&) T 2,000 (Bl ¥ 5,000
() T 3,382 (D) T 4,000
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151.

152.

153,

154,

16

157.

4 (7

PART IV : GENERAL AWARENESS

An index numhber measuring the sverage
price of consumer goods and @ services
purchased by howseholds i=

(A} Consamer price index

(B} Human development index
(C) Cost of living index

(¥ Whaolesale price index
Oligapely consists of
(A1) Two sellers

() Single seller

(B Three zsllers
(DY Few sellors

Mational Income in India is estimated by the
A1 product method
{B1 ineome method
{Ci
{3

expenditure method
product and income methods

The fixed cost in the short-ran for a producing
firm wilt be

(A} alwavs declining

(B} alwuys comstant and fized

() always inereasing

(M always flocioating

Machine tool iz an example of

(B} capital
(D} intermediary

gonds,
(A} consurner
(2 free

Gandhara art was the combination of

(A} Indian and Greek styles of sculptures
iB) Indian and Persian styles of sculptures
{01 Indian and Chinese styles of sculptures
1D} None of these

Mohamimed Gawan was a famous Wazir and

Vakil in the kingdom of
(4} Bahmani 1Bl Gujarat
(C} Kashmir 1D} Mysore
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138,

158, Which one of the

160,

161.

The first Governor of the Portuguese in India
Wasg

(A) Vaseoeda-Gama
{B) Bartholomes Diaz
(C1 Albugquergue

(D) De Almeids

following  reformative
measures was nof introduced by William
Bentinck

(&Y Abelition of Sati

(B Removal of disabilities due to change of
religion

i)

I

Abolition of slavery

Suppression of thags

Which work of Thomas Pame inzpired the
colonial peeple to fight against Britain during
the American War of Independence 7

tA) What is the Third Estate 7
(B Common Sense

{C1 The Spirit of the Laws

(D) Bocial Contract

Fasciam believes in

[A) One parly system

(B} Bi-party systemn

1C) FPragmented multi-party svatem
(D) Dominant multi-party system

162. Which of the following commizzions i3 nod &

Constitutional body ?

(A) Staff Selection Commisgion

(B} Election Commission

(01 Finance Commission

(D Union Public Service Commission




161

152

153.

164.

156,

156,

157.

YT IV : WTHT ATAERHT

T gm wid T I9eTE aegen e
garyi & ftma diWE S W9 =Sen o
T B

(A) T e G

(B W e T

(C) S Ttz i @ = g

(D) &I i g
W | B

&) & fewm (B) H s
€)= D) o faem

unA # T o s e o
(&) I fEY Zm

(B 3T fafy gm

(o =y Al

(D} 3rare st g Bt g

fedt sems w1 5 o sweEw ¥ AW
AT &t

(A) HET FAA] 88

By we o i T

(C) T Ead g

(D) T afee

T A U IgEm R S W

(A) ITHTET (B} gftra

() AT (D) A

TR, Tl Toem ot

(4) wE.F@E i owwdE 3 g Al
I

{BJ ﬁ-ﬁaﬁaﬁrtmﬂ:rafﬁqmﬁﬁaﬁ
H

(€) w6 e ok R A
Dy ¥H 8w o

qEETE TEE = 799 1 T Wz T
3 FhE . |

(A) ETREH (B) TEE

(O N (o g
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158,

168,

164,

1561,

162,

wr B it =5 aeen weE oy
(A) SR

(B) =metEhg s

(C) FiFadh

(D) 3 s

fafeam fEs g o= © & fem guer T
AT FFT T T
(A) TH T W I

(B) oi # sfrEds & www swwdeedt w g
AT

(C) SIEE & A
(D) =7 &1 259

HRIE & e gg ¥ e f@en & fmg
wEq & Tom ohmm 99 % fem owm 3 oA
wi =t Ui e o o

() TEd Hee FEE R 7

{B] AW Hg

() feofa = ana=

(D) =mafiE afEg

Fiier oy i B

(A) T = H woed §

(B) 2 = &1 g §

() Taates 5w == & wmEt o
(D} WEE W% S o o o

fe & B S s d3uE FEm T
%9

(A} FHH 5T WA

(B} T

o) fam wmm

(D) 9 S &



—

163,

164,

165.

186,

1487.

168,

by

= . _
Under the advisory juriediction, the Supreme | 168, Which e of the fllowing is net =
Court gives ita opinion on a question of law or grassland ?
fact of great public importance refarred to it (A) Solvas (B) Steppes
(T} Downs M Veld
170, Duncan Pessage separates

(A) The Prime Minister

(B} The President

(C)} The Union Law Minister

{D} Any High Court

How much time is given to Rajva Sabha to
pass a Money Bill 7

1A 12 days
(€1 14 days

{Bl 13 daya
{0} 15 days

The electoral college to elect the President
COMpPOses

{4) Al members of both the Houses of
Parliament

(B) Al elected members of both the Houses
of Parliagment

(Cr Al membeéra of Parlisment and all
members of Legizlative Assemblies and
Councifs

(D Elected members of both the Houses of
Parliament and Legislative Assemblies

Which one of the tree species does mot balong
to deciduous vegetation 7

t4) Teak {B) Hal
(21 Sandalwood (¥ Deodar

The predominant soil in the Coastal plains
and North Indian plains is

(A) Black (B} Red
(Cr Alluvial (0 Ard
Rocks having large gquantity of underground

water and permitting ready flow of water are
called

(A Aquicludes
[} Porous

(B) Aquiters
(D) Permeable
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171.

172,

173.

174,

17a.

(A} North and Middle Andamans

(B} Middle and South Andamans

(Ch  Bouth Andamang and Little Andamans

(D Little Andemans and Car Nicobar
Islands

In biclogy, water soluble substances are
referred to as

(Al hydrophobic

(Bl hydrophikic

10 hydrokinetie

(D) hydrodynamic

Amoebs sequires its food through the process

of

(A) Exocytosis
(B Endocytesic
(T} Plasmolysis
() Exocytesis and endocytosts

Female Anopheles mosquits iz the vestor of
{A) Filariasis
(C Yellow fever

(B} Dengue fever

1D Malaria

The animal association seen in a sucker fizsh
attached to a shark ia

(B) Commeansalism
(I¥ Meutralizm

(A1) Mutualism
(C} Parasitism
Which among the following i= symbietic
MNitrogen-fOxing bacteria 7

(AY Henthomonos

(Bl Psendomonos

(T Rfrizabium

(D) Azorabacter
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165,
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173
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L76.
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176,

177.

178,

178.

180.

Match correctly the crops listed in List I with
the diseases affecting them given in List IT:

List I List 11
Cropa) {Dizpases)
a; Paddy 1. Downy mildew
b.  Wheat 2. Blast
e.  Mustard 3. Red rot
d. Sugarcane 4. Rust
(Al a-l, b2, o, d-3
B =23 b-1,c-2 d4
(C) a2 bd, el da
(D} asd, b2, 03, d=1

A plant with preen leavea viewed in red light
will appesr
(A} Black
iC} Red

{B) Green
(D} WViolet

A body moving in & circular path with
constant apeed has

{4
[B)
(%]
{1

constant retardation
congtant acceleration
wveriable acceleration
radially outward acceleration

Total internsl reflection occurs when Light
travels from

{A) & rarer medium to 2 denser medinom
(B & denser medium to a rarer medium

() ararer medium to a denser mediom with
angle of incidence prester than critical
angle

n denzer mediom to a rarer mediom with

angie of incidence greater than critical
angle

MCE, which cuts off the electricity supply in
caze of short-cireuiting works on the

(D}

A} chemical effect of current

(B} heating effect of current

1Cr magnetic effect of current

(N electroplating effect of current
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181.

182,

184,

184,

156,

187.

188,

An operating system is afan
{A} Application software
{Bl Swvstem softwara

() Utility software

(D} Accounting software

In DS, the DIR Command iz vaed to

(A) delete files

(B} display list of files and subdirectories
(2 copy files

(D) display contents of a file

i the amount of work that the
gvatem i3 able to do per unit time.
(A} Qutput (Bi Transfer rate
(T} Throughput (I Turnaround

An example of & covalent melecule iz
{A) Carbon tetrachloride

{B) Potassium chlonde

(01 Sodium chioride

(D) Lead chloride

The element eommeon to all asids 18

(B} Hwdrogen
i Sulphur

(A) Oxygen
(C1 Mitrogen

In medicine bottles contamang tablets or
capaules, a small pouch of silica gel is kept to
(&) kill bacteria

(B} absarb mosture

(2} abeorb gases

(D) keep the bottle warm

Alumimium oxide 15 afan
(A}
(B}
L8]
(L¥)

acid oxide

hazic oxide
nentral oxide
amphoteric acid

Which one of the following 1= the most stable
eoogystem 7
(A} Desgert
(C1 Oecean

(B Mountain
i} Forest
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187.
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189. Which of the following is a biodegradsable | 196,

pollutant ?
(A} Dye effluent (B! Bleaching effluent
i) Sewage D) Heavy metals

197,
190. The concentration of pollutants in
atmosphere are generally expressed in

(A} parts per million
By partz per billion
(01 kilogram per square metre
{D) parts per trillion
191. Which country won the Confederations
Cap, 2013 7
{A] Spain (B) Brazil
{C1 Italy (D) Uruguay

192, Who ia the Chief Justice of India ?

(4Y Justice Altamas Kabir
(B Justice P. Bathasivam

i) Juatlee Markandey Singh 198.

(T Justice B.G. Balakrishnan

193, Which one of the following daye does not
synchronize with the birth anniversary of any
eminent Indian 7

(4] Mational Science Day 190,

i(B) Teacher's Day
(C1 Children's Day
(DY Gandhi Jayanti
194. Which one of the following novels was not
written by Charles Dickens T
(A) Hard Titnes
{B) Pride qnd Prejudice
{2 Olver Twis
(D Pickwick Papers

195, Which country hss given asylum to Julian
Asgange, WikiLeaks founder ?
iA] Cuba ‘B] Eguador
(7} Ruesia ([ None of the above
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2040,

What ie the currency of South Africa ?

(A} Real (B} Rial
() Dirham i Rand

Match the two lists containing the names of
poets and the language in which they wrote

Ramayana
Poets Language in which

Romanyena s
written

a, Kamban 1. Bengali

bh. EKrittivasa 2. Hindi

¢. Madhave Kandali 3. Tamil

d.  Tulsi Das §, Azcameszs

(A} a2, b-3, c-1,d-4
By a-8, bel, o4 d-2
(C) a4, b2 c-1,d-3
{0 a-3, b, o-L.d-2

Which one of the following countries is not a
member of the Organization of Petroleum
Exporting Countries ?

tA) Algeria {B) Brazl

(C) Ecuador ([0 Libwa

The twe events in which India won gold

medals in the Asian Athletic Championships,

2013 are

(A} Women's 400 m and Women's Discus
Throw

(B} Women's Long Jump and Men's Dizcus
Throw

{01 Women's Shot Put and Women's
4 = 400 m Relay

Dl Women's 4 = 400 m Relay and Men's
Piscus Throw

For which one of the following films directed
by Shyam Benegal was the story written
jointly by him and Dr. Verghese Kurien ?

(A) Ankur (B Miondi

(0 Marthen (D) Eubeidoa
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196.

1a7.

194,

188,
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
I = ot Fafly

Directions Each question or incomplete
statement is followed by four alternative suggested
answers or fompletions. In each ecase, wou are
required to select the one that correcthy answers the
question or completes the statément and blacken
[@] appropriste oval A, B, C or D by Black/Blue
Ball-point Pen sgainst the guestion concerned in
the Angwer-Sheet.

{For V.H. candidates corresponding oval will
be blackened by the scribe.)

The following example illustrates the manner in
which the questions are required to be anawered.

Example :
Question No, *Q' —

Out of the four words given below, three are
alile in some way and one iz different. Find the
CHDEY woned

(A Gard

{B) Bay

1Y Woman

{1 Chair
Explaration : In the ahove example, the correct
answer 18 “Chair’ and this Answer has  been
suggested at TV, Accordingly, the answer i to be
mdicated by blackening @] the oval by Black/Blue
Ball-point Pen in column ‘D' against Question No.
‘G in the manner indicated helfw -

Gluestion No, ‘@'

@A O @

There is only one correct answer to each question.
You should blacken [@] the oval of the appropriate
column, viz, A, B, C op D, If you blacken [ @] more
than ene gvil against any one question. the answer
will be treated as wrong. If vou wish to cancel any
anawer, ¥out should completely erase that black
muark in the oval in the Answer.8heet, snd then
blacken the oval of revised reaponse,

You are NOT required to mark your answers in this
Boollet. All answers must be indicated in the
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